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I.  n mwn: 3 brothers; A&B married to P&Q (sisters); C unmarried; A died; C did 9nxn to P then B died
a. w7 C stays married to P and Q is free as nwr mnx
b. /772 C divorces P with vy and Q with n¥9n; this is the meaning of the saying “ynx nwr 5y " nR1 ;NVR HY 15 IR
i.  Note: “this” excludes ruling of ywv1n> 7 (ahead 1:»); we follow 3™ or 8", allowing one of the wives to stay
Il 71Y5R "7’s observation about w”a’s position on MRN
a. Versionl: 1nrn does not generate a full pap
i.  Rather: it only effects a rejection (n»nT) of the mx
1. Support: w"2’s position in & mwn — (per MY ") — if C took P and D took Q — remain married
(a) Observation: w"a did not permit C to marry P; rather, 7272 they may remain married
(i) And:if they would allow for 1nxn to be a full 11p, allow n5nna% for C to do 9nrn on P then ma»
(b) Rejection: if 1rn effects n»n7, let C perform nrn and “reject” Q etc. and then take P
(i) Rather: only 1nrn of 1m0 rejects
1. Implication: according to the position that anxn is nnp — only if it is KRN of >N
b. Version2 (»wx 37): 1nRn does not generate a full rejection, relieving n7x of the need for nx’>n
i.  Rather: it rejects incompletely (17wm) — such that the 07 still requires n¥’%n
1. Support: w"2’s position, per above
(a) Observation: if w"a held that 9nRn is a complete 77n7, C could n%nna> do RN & reject Q->allow P
(b) Rejection: w"a, in our nwn, allows the ARNN YY1 to remain and the other sister to leave w/o nx5n
2. Rather: when ma if fully permitted, (as in our n1wn; when P fell to C, she was fully 1mn,
(a) Then: it is partially permitted (i.e. Inxn is fully effective)
II. n17's question: according to w”1, does INRN generate POIVR or PRIV?
a.  Challenge (»aN): for what practical purpose is this asked —
i.  If: for mbay, to inherit her estate, attend her funeral (if 1n2) or to refute her v»11 — irrelevant
1. Reason: even standard Rn»1R7T porpR doesn’t generate those relationships
ii.  Rather: Question asked re: the requirement of nayn% non
1. Response (718): even without 1nxn, there is no need for her consent (per v.1)
(a) Therefore: with 9nrn, shouldn’t be worse
(b) Defense (7127): he holds that a1nrn removes 1n2’ np>t and replaces with poyR npt
b.  Solution: Xm»11 — re: D2’ performing D171 NN
i. 4”1 even if there are multiple n2’, may do ©»1 n19n
ii. w7 77 only if there is one D2
iii. p”rnotin any case
1. Analysis: " holds npr pR; w171 1 holds that np>t only obtains when there is only 1 na
(a) But: how could 8™ allow for np»t with two to allow n19n (which one?)
(b) And:onr " explained that this is a case where one did 1nxn (he does nvan) per v
(i) Conclusion: w"a must hold that 1nxn generates pPr1w?
(if) Argument: per X:X? D173, an NOYIX requires both father and V1R to participate
(iii) block (»7277): nnan is done with father, not by na1’ alone
(iv) Note: according to 8" (above) that w"a is only nm7 the n7%, why can he q9n with father?
1. Answer: " would say that he didn’t limit 9nxn except vis-a-vis n¥'on, not 3”190
2. Alternate: >"a17's answer isn’t “smooth”; Xn»1 says 7197, not 119
a.  Rather: this is a case where she was already granted mam by 12
b. Per: X171 - anyone who takes a 7T does so nY»a ny7 %y (>he can be 1an)
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